Plot the point with the given polar coordinates,
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: int as the provided polar
Find 3 additiomal pairs of polar coordinates that describe the same point as the P
coordinates. 4 -1 / 2)
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Convert each pair of polar coordinates to rectangular coordinates.
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Convert each pair of rectangular coordinates to polar coordinates where r > 0 and 0 < 8 < 27.
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Convért eaclr equatlon from rectangular to polar form.
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Convert each equation from polar to rectangular form.
;\\“Ps‘L 17)(r =—4cos 6 + 2sin 9)P 18) tan O =1

rL- ~YrcesO+ Arsmo

X*tyZs -4 X+ &
x*:?rw_"t__ ?29;1'\ = Ot +L -
SEERRRE S

™




) gl
20)(r=4dsin 8

19) r=3tanfsec 0 |~cp50-x <= 3Y
C= _?_:?B‘J . re:- L}I"JMQ
Ycose X3y 4

X4y -43+_Lt.g:0+—'i

convert to rectangular coordinates first then use a formula - you know - one that finds distanc
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Two points are specified using polar coordinates. Find the distance between the points. Hint: )
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